Factoriser

Exercice 1:
G=K(-3)(Xx+1)+7(x+1) H = &+1)(x+2) + 5&+2) | = 5(1+X) + (x+1)(1+2)
J = &+1)(3X) + (x+1)(2+5) K= (x+2)(x+1) + x+2)(7x-5) L =(3t+4)(t-2) + (t+7)(3t+4)

(CHD(Ep+IE) = T
NT-XTNT+%)f = (#X8NT+%) = (Xp+CHT+%) =0 (XZ+0(0+%) =T X (T+9(0+%) = F (T+32)(t+%) = D
Exercice 2 :
M = (3X)(4x+1) — 8(&+1) N = 6(%-2) — (X-2)(x-4) P = (x- 6)(2X) — (2x)(3+4x)
Q = x+3)* — (x+3)(5+) R = (2+1f — (3x+1)(2x+1) S = (&+1)Y — (x-3)(10x+5)

(O +XE)NT4X7) = § F(T4x7)% = ()([4+x7) = ¥
(E+X7-=(C-NE+%) = 0 < (F+20(-7)f- = (6-XF-N*-7) = F - (0T +5NTXE) = N7 (C-HT+x5) = ]y



